

County Distribution Detail Report through 08/02/2017

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,303	1,770	18	3,091	\$3,863.75	\$122.91	\$3,740.84	0.70	\$2,618.59
							Entity Tota	ıl:	\$2,618.59
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,618.59

Beadle

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	200	0	200	\$250.00	\$0.00	\$250.00	0.70	\$175.00
2/2017	0	300	0	300	\$375.00	\$0.00	\$375.00	0.70	\$262.50
3/2017	0	300	0	300	\$375.00	\$0.00	\$375.00	0.70	\$262.50
4/2017	0	300	0	300	\$375.00	\$0.00	\$375.00	0.70	\$262.50
5/2017	0	320	0	320	\$400.00	\$0.00	\$400.00	0.70	\$280.00
6/2017	4,834	10,520	111	15,465	\$19,331.25	\$418.47	\$18,912.78	0.70	\$13,238.95
7/2016	0	200	0	200	\$250.00	\$0.00	\$250.00	0.70	\$175.00
8/2016	0	200	0	200	\$250.00	\$0.00	\$250.00	0.70	\$175.00
9/2016	0	200	0	200	\$250.00	\$0.00	\$250.00	0.70	\$175.00
10/2016	0	200	0	200	\$250.00	\$0.00	\$250.00	0.70	\$175.00
11/2016	0	200	0	200	\$250.00	\$0.00	\$250.00	0.70	\$175.00
12/2016	0	200	0	200	\$250.00	\$0.00	\$250.00	0.70	\$175.00
							Entity To	otal:	\$15,531.45
							Adjustm	ent:	\$0.00
							Total An	nount:	\$15,531.45

Bennett

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
2/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88

Den Hemme									
							Total Amour	nt:	\$1,754.33
							Adjustment:		\$0.00
							Entity Total:		\$1,754.33
12/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2017	954	1,088	4	2,046	\$2,557.50	\$58.86	\$2,498.64	0.70	\$1,749.05
5/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
4/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88

Bon Homme

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
2/2017	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
3/2017	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
4/2017	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
5/2017	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
6/2017	2,397	3,703	11	6,111	\$7,638.75	\$153.26	\$7,485.49	0.70	\$5,239.84
7/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
11/2016	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
12/2016	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
							Entity To	tal:	\$5,267.87
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$5,267.87

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
2/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
3/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
4/2017	0	2	5	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
5/2017	0	2	5	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
6/2017	10,820	19,237	157	30,214	\$37,767.50	\$785.66	\$36,981.84	0.70	\$25,887.29

							Total Amour	nt:	\$25,915.30
							Adjustment:		\$0.00
							Entity Total:		\$25,915.30
12/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
11/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
7/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75

Brown

Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11,560	24,661	273	36,494	\$45,617.50	\$972.26	\$44,645.24	0.70	\$31,251.67
0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
						-		\$31,254.31
						Adjustmer	it:	\$0.00
						Total Amo	unt:	\$31,254.31
	11,560 0 0	11,560 24,661 0 1 0 1	Lines 11,560 24,661 273 0 1 0 0 1 0	Lines 11,560 24,661 273 36,494 0 1 0 1 0 1 0 1	Lines 11,560 24,661 273 36,494 \$45,617.50 0 1 0 1 \$1.25 0 1 0 1 \$1.25	Lines 5 11,560 24,661 273 36,494 \$45,617.50 \$972.26 0 1 0 1 \$1.25 \$0.00 0 1 0 1 \$1.25 \$0.00	Lines C G S <td>Lines Percent 11,560 24,661 273 36,494 \$45,617.50 \$972.26 \$44,645.24 0.70 0 1 0 1 \$1.25 \$0.00 \$1.25 0.70 0 1 0 1 \$1.25 \$0.00 \$1.25 0.70</td>	Lines Percent 11,560 24,661 273 36,494 \$45,617.50 \$972.26 \$44,645.24 0.70 0 1 0 1 \$1.25 \$0.00 \$1.25 0.70 0 1 0 1 \$1.25 \$0.00 \$1.25 0.70

Brule

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,885	3,483	5	6,373	\$7,966.25	\$165.16	\$7,801.09	0.70	\$5,460.76
							Entity Total	1	\$5,460.76
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,460.76
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	635	376	1	1,012	\$1,265.00	\$26.55	\$1,238.45	0.70	\$866.92
							Entity Total	:	\$866.92
							Adjustment	:	\$0.00

Total Amount: \$866.92

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,861	5,941	19	8,821	\$11,026.25	\$230.50	\$10,795.75	0.70	\$7,557.03
							Entity Tota	ıl:	\$7,557.03
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$7,557.03
Campbell									

Reporting Period VOIP **Entity Amount** Surcharge Net Surcharge Entity **Telecom Lines** Wireless Lines **Total Lines** Admin Fee Lines Percent 6/2017 852 1,381 8 2,241 \$2,801.25 \$2,745.21 0.70 \$1,921.65 \$56.04 Entity Total: \$1,921.65 Adjustment: \$0.00 **Total Amount:** \$1,921.65

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	3,156	4,985	14	8,155	\$10,193.75	\$208.03	\$9,985.72	0.70	\$6,990.00
							Entity Tota	:	\$6,990.00
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,990.00

City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	52	615	0	667	\$833.75	\$18.78	\$814.97	0.70	\$570.48
							Entity Tota	I:	\$570.48
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$570.48

City of North Sioux City, Uni

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
5/2017	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
6/2017	1,193	350	135	1,678	\$2,097.50	\$58.28	\$2,039.22	0.70	\$1,427.45

Adjustment:

Total Amount: \$1,432.71

\$0.00

City of Sioux Falls, Lincoln (

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
5/2017	0	0	40	40	\$50.00	\$0.00	\$50.00	0.70	\$35.00
6/2017	5,612	1,695	389	7,696	\$9,620.00	\$283.83	\$9,336.17	0.70	\$6,535.32
							Entity Total	:	\$6,572.95
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,572.95
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,646	2,360	9	4,015	\$5,018.75	\$106.84	\$4,911.91	0.70	\$3,438.34
							Entity Total	:	\$3,438.34
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,438.34
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,990	7,012	53	9,055	\$11,318.75	\$239.47	\$11,079.28	0.70	\$7,755.50

Entity Total:\$7,755.50Adjustment:\$0.00Total Amount:\$7,755.50

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	8,402	17,961	181	26,544	\$33,180.00	\$698.00	\$32,482.00	0.70	\$22,737.40
							Entity Total	:	\$22,737.40
							Adjustment	:	\$0.00
							Total Amou	nt:	\$22,737.40

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,442	499	5	1,946	\$2,432.50	\$49.99	\$2,382.51	0.70	\$1,667.76
							Entity Tota	:	\$1,667.76
							Adjustmen	::	\$0.00
							Total Amou	int:	\$1,667.76

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
2/2017	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
3/2017	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
4/2017	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
5/2017	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
6/2017	3,930	4,925	28	8,883	\$11,103.75	\$246.61	\$10,857.14	0.70	\$7,600.00
7/2016	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
8/2016	0	8	0	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
9/2016	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
10/2016	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
11/2016	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
12/2016	0	12	0	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
							Entity T	otal:	\$7,699.76
							Adjustn	nent:	\$0.00

Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
5/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2017	6,087	13,083	314	19,484	\$24,355.00	\$530.20	\$23,824.80	0.70	\$16,677.36
8/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
11/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63

Total Amount:

\$7,699.76

Adjustment:

\$0.00

Total Amount: \$16,687.01

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,589	3,413	6	6,008	\$7,510.00	\$152.92	\$7,357.08	0.70	\$5,149.96
							Entity Total	:	\$5,149.96
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,149.96

Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,288	2,798	7	5,093	\$6,366.25	\$135.31	\$6,230.94	0.70	\$4,361.66
							Entity Tota	l:	\$4,361.66
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$4,361.66

Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
5/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2017	1,440	2,049	19	3,508	\$4,385.00	\$90.69	\$4,294.31	0.70	\$3,006.02
							Entity Tot	tal:	\$3,007.78

	+-,
Adjustment:	\$0.00
Total Amount:	\$3,007.78

Edmunds

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,543	2,720	10	4,273	\$5,341.25	\$107.26	\$5,233.99	0.70	\$3,663.79
							Entity Tota	I:	\$3,663.79
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,663.79

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
2/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
3/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
4/2017	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
5/2017	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
6/2017	3,607	3,978	20	7,605	\$9,506.25	\$191.47	\$9,314.78	0.70	\$6,520.35
7/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
10/2016	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
11/2016	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
12/2016	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
							Entity Tota	l:	\$6,555.38
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$6,555.38
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	998	1,360	5	2,363	\$2,953.75	\$60.04	\$2,893.71	0.70	\$2,025.60
							Entity Tota	l:	\$2,025.60
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,025.60
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,611	4,984	164	7,759	\$9,698.75	\$217.06	\$9,481.69	0.70	\$6,637.18
							Entity Tota	l:	\$6,637.18
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$6,637.18
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,018	3,410	17	5,445	\$6,806.25	\$136.67	\$6,669.58	0.70	\$4,668.71

							Entity Tota	ıl:	\$4,668.71
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$4,668.71
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,097	1,360	5	2,462	\$3,077.50	\$61.58	\$3,015.92	0.70	\$2,111.14
							Entity Tota	ıl:	\$2,111.14
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,111.14

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,064	3,461	6	5,531	\$6,913.75	\$138.37	\$6,775.38	0.70	\$4,742.77
							Entity Tota	l:	\$4,742.77
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$4,742.77

Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
2/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
3/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
4/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
5/2017	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2017	1,345	2,585	13	3,943	\$4,928.75	\$100.96	\$4,827.79	0.70	\$3,379.45
10/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
11/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
12/2016	0	1	0	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
							Entity Tota	al:	\$3,388.23

- Adjustment: \$0.00
- Total Amount: \$3,388.23

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,086	2,886	18	3,990	\$4,987.50	\$102.19	\$4,885.31	0.70	\$3,419.72
							Entity Tota	l:	\$3,419.72
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,419.72
Harding									

Reporting Period Wireless Lines VOIP **Total Lines** Net Surcharge **Entity Amount Telecom Lines** Surcharge Admin Fee Entity Lines Percent 1,573 \$1,966.25 \$1,916.92 \$1,341.84 6/2017 751 821 \$49.33 0.70 1 Entity Total: \$1,341.84 Adjustment: \$0.00 **Total Amount:** \$1,341.84

Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
6/2017	5,216	14,020	232	19,468	\$24,335.00	\$511.45	\$23,823.55	0.70	\$16,676.49
9/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	al:	\$16,683.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,683.49

Hutchinson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	3,456	4,827	197	8,480	\$10,600.00	\$208.16	\$10,391.84	0.70	\$7,274.29
							Entity Tota	l:	\$7,274.29
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,274.29
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	814	1,020	2	1,836	\$2,295.00	\$47.14	\$2,247.86	0.70	\$1,573.50

\$1,573.50

Adjustment: \$0.00

\$1,928.50

Total Amount: \$1,573.50

Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	731	782	2	1,515	\$1,893.75	\$38.19	\$1,855.56	0.70	\$1,298.89
							Entity Total	:	\$1,298.89
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,298.89
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,030	1,219	0	2,249	\$2,811.25	\$56.25	\$2,755.00	0.70	\$1,928.50
							Entity Total	:	\$1,928.50
							Adjustment	:	\$0.00

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	608	635	6	1,249	\$1,561.25	\$31.30	\$1,529.95	0.70	\$1,070.97
							Entity Tota	l:	\$1,070.97
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,070.97

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
5/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
6/2017	1,529	3,896	32	5,457	\$6,821.25	\$140.26	\$6,680.99	0.70	\$4,676.69

Entity Total:	\$4,678.45
Adjustment:	\$0.00

Total Amount:

Adjustment:	\$0.00

Total Amount: \$4,678.45

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	3,313	9,353	89	12,755	\$15,943.75	\$337.16	\$15,606.59	0.70	\$10,924.61
							Entity Tota	l:	\$10,924.61
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$10,924.61

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
2/2017	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
3/2017	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
4/2017	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
5/2017	0	5	0	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
6/2017	8,779	15,361	199	24,339	\$30,423.75	\$635.84	\$29,787.91	0.70	\$20,851.54
10/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
11/2016	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
12/2016	0	6	0	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
							Entity Tota	ıl:	\$20,889.17
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$20,889.17

Lincoln

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	4,666	38,139	1,999	44,804	\$56,005.00	\$1,243.85	\$54,761.15	0.70	\$38,332.81
							Entity Tota	l:	\$38,332.81
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$38,332.81
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,411	1,787	7	3,205	\$4,006.25	\$86.32	\$3,919.93	0.70	\$2,743.95

Entity Total: \$2,743.95 Adjustment: \$0.00

Total Amount: \$2,743.95

Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,120	2,621	29	4,770	\$5,962.50	\$137.33	\$5,825.17	0.70	\$4,077.62
							Entity Tota	I:	\$4,077.62
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,077.62
McCook									

McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,732	4,092	12	6,836	\$8,545.00	\$171.45	\$8,373.55	0.70	\$5,861.49
							Entity Tota	l:	\$5,861.49
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,861.49

McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,179	1,499	1	2,679	\$3,348.75	\$77.83	\$3,270.92	0.70	\$2,289.64
							Entity Tota	l:	\$2,289.64
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,289.64

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
2/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
3/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
4/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
5/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
6/2017	4,158	17,235	284	21,677	\$27,096.25	\$590.45	\$26,505.80	0.70	\$18,554.06
9/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
11/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2016	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50

							Entity Tota Adjustmei Total Amo	nt:	\$18,573.31 \$0.00 \$18,573.31
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	641	627	3	1,271	\$1,588.75	\$31.82	\$1,556.93	0.70	\$1,089.85
							Entity Tota	al:	\$1,089.85
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,089.85
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,151	1,498	3	2,652	\$3,315.00	\$66.56	\$3,248.44	0.70	\$2,273.91
							Entity Tota	al:	\$2,273.91
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,273.91
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	51,237	138,128	2,387	191,752	\$239,690.00	\$5,062.48	\$234,627.52	0.70	\$164,239.26

Moody

9/2016

0

3

0

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,563	4,328	13	5,904	\$7,380.00	\$173.44	\$7,206.56	0.70	\$5,044.59
							Entity Tota	l:	\$5,044.59
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,044.59

3

\$3.75

\$0.00

\$3.75

Entity Total:

Adjustment:

Total Amount:

0.70

\$2.63

\$0.00

\$164,241.89

\$164,241.89

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	34	0	34	\$42.50	\$0.00	\$42.50	0.70	\$29.75
2/2017	0	32	0	32	\$40.00	\$0.00	\$40.00	0.70	\$28.00
3/2017	0	28	0	28	\$35.00	\$0.00	\$35.00	0.70	\$24.50
4/2017	0	21	7	28	\$35.00	\$0.00	\$35.00	0.70	\$24.50
5/2017	0	20	7	27	\$33.75	\$0.00	\$33.75	0.70	\$23.63
6/2017	29,421	71,023	1,380	101,824	\$127,280.00	\$2,711.19	\$124,568.81	0.70	\$87,198.17
7/2016	0	43	0	43	\$53.75	\$0.00	\$53.75	0.70	\$37.63
8/2016	0	42	0	42	\$52.50	\$0.00	\$52.50	0.70	\$36.75
9/2016	0	39	0	39	\$48.75	\$0.00	\$48.75	0.70	\$34.13
10/2016	0	38	0	38	\$47.50	\$0.00	\$47.50	0.70	\$33.25
11/2016	0	33	0	33	\$41.25	\$0.00	\$41.25	0.70	\$28.88
12/2016	0	35	0	35	\$43.75	\$0.00	\$43.75	0.70	\$30.63
							Entity Tota	l:	\$87,529.82
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$87,529.82
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,926	2,347	10	4,283	\$5,353.75	\$117.04	\$5,236.71	0.70	\$3,665.70
							Entity Tota	l:	\$3,665.70
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,665.70
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	1,521	1,705	4	3,230	\$4,037.50	\$80.83	\$3,956.67	0.70	\$2,769.67
							Entity Tota	l:	\$2,769.67
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,769.67
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

6/2017	4,215	4,452	8	8,675	\$10,843.75	\$239.96	\$10,603.79	0.70	\$7,422.65
							Entity Tota	al:	\$7,422.65
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,422.65
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	992	1,793	0	2,785	\$3,481.25	\$69.64	\$3,411.61	0.70	\$2,388.13
							Entity Tota	al:	\$2,388.13
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,388.13
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,227	4,419	7	6,653	\$8,316.25	\$169.99	\$8,146.26	0.70	\$5,702.38
							Entity Tota	al:	\$5,702.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,702.38
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	833	2,119	13	2,965	\$3,706.25	\$75.89	\$3,630.36	0.70	\$2,541.25
							Entity Tota	al:	\$2,541.25
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,541.25
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	885	1,111	1	1,997	\$2,496.25	\$50.01	\$2,446.24	0.70	\$1,712.37
							Entity Tota	al:	\$1,712.37
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,712.37

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	0	9	120	129	\$161.25	\$6.31	\$154.94	0.70	\$108.46
7/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
Talaa							Entity Tota Adjustmen Total Amo	t:	\$111.96 \$0.00 \$111.96

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
2/2017	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
3/2017	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
4/2017	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
5/2017	0	4	0	4	\$5.00	\$0.00	\$5.00	0.70	\$3.50
6/2017	2,806	3,701	86	6,593	\$8,241.25	\$163.72	\$8,077.53	0.70	\$5,654.27
7/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
10/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
11/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
12/2016	0	3	0	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
							Entity Tota	ıl:	\$5,684.92
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$5,684.92
Turner									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	2,617	5,817	25	8,459	\$10,573.75	\$213.80	\$10,359.95	0.70	\$7,251.97
							Entity Total: Adjustment:		\$7,251.97
									\$0.00
							Total Amou	unt:	\$7,251.97

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2017	3,728	11,767	328	15,823	\$19,778.75	\$469.09	\$19,309.66	0.70	\$13,516.76
							Entity Total: Adjustment:		\$13,516.76
									\$0.00
							Total Amou	unt:	\$13,516.76
Walworth									

VOIP **Total Lines Entity Amount Reporting Period Telecom Lines** Wireless Lines Surcharge Admin Fee Net Surcharge Entity Lines Percent 6/2017 2,443 3,499 6,012 \$7,515.00 \$150.99 \$7,364.01 \$5,154.81 70 0.70 Entity Total: \$5,154.81 Adjustment: \$0.00 **Total Amount:** \$5,154.81

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
2/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
3/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
4/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
5/2017	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
6/2017	6,078	14,609	116	20,803	\$26,003.75	\$533.48	\$25,470.27	0.70	\$17,829.19
7/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
8/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
11/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
12/2016	0	2	0	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
							Entity Tota	Entity Total:	
							Adjustmer	nt:	\$0.00
							Total Amo	Total Amount:	

554,261

9,775

816,110 \$1,020,137.50

50 \$ 21,672.77

\$ 998,464.73